THE GAUHATI HIGH COURT

{The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)
Written Examination (OMR based objective Type Multiple Choices) in

connection with direct recruitment of RECORD KEEPER for the Itanagar
Permanent Bench, Naharlagun, Arunachal Pradesh

Total Marks: 100 Duration: 2 hours
Date: 22.07.2018 (Sunday) Time: 10 AM to 12 Noon

Total number of questions=100
Each question carries 1 (one) mark

GENERAL KNOWLEDGE
1. Sericulture is

(A) science of the various kinds of serum  (B) artificial rearing of fish

(C) art of sitkworm breeding (D) study of various cultures of a community

2. When does the moon come between the sun and the earth?
{A) Lunar eclipse (B} Sofar eclipse (C) Sidereal day (D) Full moon day

3. The southernmost tip of India is

(A) Kanyakumari (B) Kovalam

(C) Indira point in Nicobar Islands (D) Cape Comorin
4. Which country is known for most frequent earthquakes?

(A) Ttaly (B} Japan {C) China (D) Iran
5 Which strait separates India from Sri Lanka?

(A} Mandeb {B) Maiella (C) Malacca (D) Palk
6. The pioneer of the silent feature film in India was

(A) K.A Abbas (B) Satyajit Ray (C) B. R Chopra (D) Dada Saheb Phalke
7. Which is the first newspaper in India?

(A) The Times of India (B) The Hindu (C) Bengal Gazette (D) Hindustan Times
8. Exposure to sunlight helps a person convert skin oil into

(A) Vitamin B (B) Vitamin C (C) Vitamin E (D) Vitamin D
9. Gauhati High Court is the Judicature of

{A) Nagaland (B) Arunachal Pradesh (C) Assam (D) All of the above
10. Arjuna Award is given for?

(A) Bravery in battlefield (B) Outstanding Performance in Sports

(C) Film making (D) Art and Culture
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i1. Who was known as the Iron Man of India?

(A) Govind Ballabh Pant ' (B) Jawahar Lal Nehru

{C) Subhas Chandra Bose (D) Sardar Vallabh Bhai Patel
12, R. K Laxman is & renowned

{A) Dance Master (B) Writer (C) Cartoonist (D) Journalist

13. Which of the following river have their source of origin in Tibet?

(A) Yamuna (B) Ganges (C) Ravi (D) Brahmaputra
14, Which flower is famous in the Tawang district of Arunachal Pradesh?
(A) Tulip (B} Rhodendron (C) Sunflower {D) Rose
15. After Sikkim which state of North East was declared Open Defecation Free State?
(A} Arunachal Pradesh (B) Meghalaya (C) Tripura {D) Assam
16 Who won the India Biodiversity Award 20167
(A) Kaziranga National Park (B) Manas National Park
{C) Namdapha National Park (D) Pakke Tiger Reserve
17 When was Arunachal Pradesh established?
(A) 20™ February 1986 (B) 21% February 1987
(C) 20" February 1987 (D) 19™ February 1988
18. Which is the state bird of Arunachal Pradesh?
(A) Black Necked Crane (B) Great Hornbill
(C) Black Crested Bulbul (D) none of the above
19, How many districts are there in Arunachal Pradesh?
(A) 73 (B) 51 (C) 20 (D) nhone of these
20.  Namdapha National park is located in
(A) Nainital Uttaranchal (B) Changlang Arunachal Pradesh
(C) Bharatpur Rajasthan (D} Nagaon, Assam

21, Who succeeded Dorjee Khandu as Arunachal Pradesh Chief Minister?
(A) Tarun Gogoi (B) Rishang Keishing (C) S. C Jamir (D) Nabam Tuki
22, Which is the highest point in Arunachal Pradesh

(A) Dhavalagiri (B} Godwin Austin (C) Kangto (D) Namchabarwa
23, Who composed the Gayatri Mantra?

(A)Biswamitra (B) Basistha (C) Indra (D) Parikshit
24, Which state is called the cradle of Buddhism?

(A) Sikkim (B) Uttar Pradesh (C) Bihar (D) Madhya Pradesh
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25. Who was the last Mughal Emperor of India?

(A) Akbar 11 (B) Aurangzeb (C) Alamgiri 11 (D) Bahadur Shah 11
26. Who was the first national ruler of India?

(A) Ajatasatru (B) Kanishka (C) Chandragupta Maurya (D) Harshad
27. Which is the highest gallantry award in India?

(A) Paramveer Chakra (B) Arjuna Award

(C) Bharat Ratna (D) Dada Saheb Phatke Award
28. Which is the largest railway route in India

(A) Dibrugarh to Kanyakumari (B) Srinagar to Kanyakumari

(C) Delhi to Kanyakumari (D) Ahmedabad to Dibrugarh
29, Who is the Author of the book “Freedom behind bars"?

(A) Mahatma Gandhi (B) Nelson Mandela

(C) Kiran Bedi (D) Jawahar Lal Nehru
30. Which is the capital of Egypt?

(A) San Jose 7 (B} Moroni (C) New Delhi (D) Cairo
GENERAL APTITUDE
31. Electronic Data Exchange is

(A) Alternative name of email (B) can't actually exchange data between two machines

(C) provides strategic and operational business opportunity (D) All of these
32. If REMOTE is coded as ROTEME, which word would be coded as PNIICC

(A) NPIICC (B) PICCIN (C) PINCIC (D) PICNIC
33.  Data (information) is stored in computers as

{A) Directories (B) Floppies  (C) Files (D) Matter

34.  Memory unit is one part of

(A) Input Device (B) Controt Unit  (C) Output Device (D) Central Processing Unit
35, Roof : foundation :: Peak :

(A) Valley (B) Land (C) river (D) mountains
36. Which technology is used in Compact Disc

(A) mechanical (B) laser (C) electrical (D) electromagnetic
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37.

38.

39.

40.

41,

42,

43,

45.

46.

47.

48.

Which of the following is Read Only Memory storage device
(A) Floppy disc (B) Hard Disc  (C) CD Rom (D) none of the above

Find the ODD one out
(A) Curd {B) butter (C) wine (D) cheese
Find the ODD one out

(A) Article (B) Novel (C) Dictionary (D) Journal

HTML stands for
{A) Hypo Text Mark Language (B) Hyper Text Mark Up Language
(C) Hyper Text Management Language (D) Hyper Tally Mark Language

Which of the foliowing is not an operating system

(A) UNIX (B) PASCAL (C) MS-DOS (D) CP/LAN
Which of the following items is not used in Local Area Networks (LAN'S)

(A) Computer (B) Modem (C) Printer (D) Cabie

All the parts in the Computer talk to each other by sending

(A) digital signal (B) analog signals

(C) smoothly varying signal waves (D) none of the above

7589 - ? = 3434

(A) 4242 (B) 4155 (C) 4156 (D) 11023
3897 x999 =?

(A) 3883203 (B) 3893103 (C) 3639403 (D) 3791203

cdometer : mileage :: compass:

(A) Speed (B) hiking (C) needle (D) direction
53, 53, 40, 40, 27, 27, -~, . What number shall come next

(A) 12 (B) 14 (C) 27 (D) 53

Find the Odd one out

(A) Inch (B} ounce  (C) centimeter (D) vard
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49, The sum of three consecutive even numbers is 42. Find the middle number of the three.

(A} 14 (B) 16 (C) 18 (D) 24
50. Arrange the words logically

1} Site 2) Plan 3)Rent  4) Money 5) building

(A) 4,1,2,5,3 (B) 3,4,2,5,1

(C) 2,3,5,1,4 (D) 1,2,3,5,4
GENERAL ENGLISH
51. Let us play ----- chess

(A) a (B} an (C) the (D) none of the above
52. He hopes to join ~--- university soon

(A) a (B) an (C) the (D) none of the above
53. This is ---~ car I bought yesterday

(A) a (B) an {C) the (D} none of the above
54.  India will become --- Super Power shortly

(A) a (B) an (C) the (D) some
55. The plants and vegetation of a certain region is known as

(A) Fauna (B) Flora (C) Forest (D) vegetation
56. Find the plural form of ‘Bacillus’

(A) Bacilli (B) Bacilluses {C) Bacils (D) none of the above
57. Choose the correctly spelt word

(A) Entrepreneur (B) Entrepreneur

(C) Entrepreneur (D) Enterprenuer
58. The ---- of a snow clad mountain is exciting

(A) site (B) sight (C) cite (D) none of the above
59. He has a —- for writing

(A) flare (B flairs (C) flair (D) fare
60. Select the odd one out

{A) hardware (B) keyboard (C) monitor (D) ink
61, It has been raining heavily

(A) simple past tense (B) simple present tense

(C) present perfect continuous (D} past perfect continuous
62. Find the adjective form of *history’

(A) historically (B) historical
(C) histrionics (D) histrionic
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74,

75.

76.

77.

Find the adjective form of ‘habit’
(A) habitual (B) habitually (C) habitat (D) habitable

Art of beautiful handwriting is known as

(A) painter (B) stenography (C) calligraphy (D) draftsman
One who always finds fault is known as

(A) cynic (B) critic (C) cupid (D) kleptomaniac
Despite --- laws paoching of wild animals is still carried out in some parts of India
(A) vilable (B) legal (C) penal (D) stringent
Find the antonym of ‘Adhere’

{A)} disjoin (B) obey (C) standby (D) follow
Find the antonym of * demise’

(A) death (B) distance (C) birth (D) short
Find the antonym of * segregate’

(A) attach (B) disconnect (C) divide (D) pride
India and America entered _____ a nuclear agreement

(A) into (B) in (C) with (D) by

I used to go to school ____ foot

(A) by (B)in (C) on (D) with

The fragrance of the flower is still --- the air

(A) in (B) on (C) by (D) above
Synonym of ‘fostering’

(A) Safegaurding (B) neglecting (C} ignoring (D) nurturing
Synonym of * defer”

(A) postpone  (B) differ (C) defy (D) indifferent
Synonym of ‘eventually’

(A) suddenly (B) ultimately (C) quickly (D) initially

Synonym of “altercation’
{A) change (B) heated dispute (C) distribution (D) none of these
Write the following sentence in Indirect Speech

Kiran asked me, “Did you see the cricket match on television last night?”
(A) Kiran asked me whether I saw the cricket match on television the earlier night
(B) Kiran asked me whether 1 had seen the cricket match on television the earlier night
(C) Kiran asked me did I see the cricket match on television the last night

(D) Kiran asked me whether I had seen the cricket match on television the last night.
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78.

79.

80,

81.

82.

83.

84.

85.

86.

87.

88.

89.

50.

91.

92.

93.

Put suffix to * Scholar’

(A) aer (B) ty (C) hood
Put suffix to * wreck’

(A) an (B) en (C) age

Put suffix to ‘pay’

(A) ee (B) en (€} an

On SundaysIgo _

(A) fish (B) to fish (C) fishing
Select correctly speit word

(A) exagerate (B) exegerate (C) exaggerate
There is __ cream in my coffee

(A) a little (B) a few {C) another
How ____ money do you need to buy this book?

(A) many (B) a lot of
(C) much (D) none of these
How ___ English books have you bought

(A) many (B) much (C) a lot of
People who work together

(A) worker (B} superhuman (C) expert
Person who works for free

(A) volunteer (B) organiser {C) member
He's been working ____ three weeks

(A) from (B) for (C) form
Thisisagood __ for a picnic

(A) plot {(B) spot {C) scene
Some of the luggage __ not yet arrived

(A) have (B)is (C) are

The ship with all its crew _____ lost after the terrible storm
(A) were (B) has {C) have
The base of our premises has ____and we have to vacate it
(A) run out (B) run off {C) run over
Find the correctly spelt word

(A) affidevit (B) afidevit {C) affedevit

(D) ship

(D) ee

(DYish

(D) fishes

(D) exageratte

(D) none of these

(D) none of these

(D) colleagues

(D} servant

(D) o

(D)landscape

(D) has

(D) was

{D) run down

(D) affidavit
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94.

95.

96.

97.

98.

99,

100.

Find the correctly spelt word
{A} rigerous {B) rigourous

Put prefix to ‘merit’

(A) di (B) re
Put prefix to ‘spoken’
{A) in (B) de

Put prefix to *human’

(A) de (B) in

Noun form of ‘apply’

{A) appliance {B) applicable
Noun form of ‘move’

(A) movable (B) movement

What is the masculine gender of Widow

(A) widower (B) widowerer

(C) regerous (D) rigorous
(C) de (D) dis

(C) out (D) dis

{Cun (D) non

(C) applicant (D) application
(C) moving (D) movably

(C) spinster (D) bachelor
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